
ZX5 Production R0000548E Module G to R0015040
Module F alignment

Details for alignment of module G to F inclusive of additional safety tray !tting

Introduction
Details for correct alignment of module G to module H

To include !tting of front safety tray once module G is installed

Medium 3 hour(s) Dif!culty  Duration

Contents

Introduction

Step 1 - Position saw outfeed table

Step 2 - Saw Outfeed table levelling

Step 3 - Saw outfeed height adjustment and Y axis position

Step 4 - Fix frames together with M10 set bolts and washers

Step 5 - Quality check

Step 6 - Fit Swarf conveyor

Step 7 - Swarf conveyor blower connection

Step 8 - Prepare front tray

Step 9 - Mark Tray and drill

Step 10 - Attach tray

Comments

Step 1 - Position saw outfeed table
Approximately position saw out feed table against saw module Leave a 10mm gap between frames until levelling has been completed

Use black <oor pads 4 off under adjustment bolts, ensuring copper slip is used on bolts

(please note image shows safety tray !tted, this is an error and will not be !tted until later steps )

Page 1 / 11



Page 2 / 11

https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074501.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121434.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121609.png


Page 3 / 11

https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-03-08_075639.png


Step 2 - Saw Outfeed table levelling
1. X axis of module is levelled from the two indicated points . Use a 2 meter straight edge between these points and an engineers level on

top

2. y axis is levelled from these two indicated points . an engineers level rested on this face is suf!cient for levelling

Page 4 / 11

https://stuga.dokit.app/images/thumb/e/e4/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074641.png/ia-a7e613eebae6f740054181feb28672b5-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074641.png.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074647.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121644_-_Copy.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121651_-_Copy.png
https://stuga.dokit.app/images/thumb/6/66/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121820.png/ia-017dee8053d04e87ec0abe5d51683030-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121820.png.png


Step 3 - Saw outfeed height adjustment and Y axis position
1 Adjust height of saw outfeed table to align faces shown

2 Check that eject table cylinder can freely move beneath frame on full range of travel

3 Align front faces of saw and outfeed frame to be inline

Check that Blue push bar is behind Saw rear fence rollers by at least 5mm( Adjustment is possible if not via slots on push bar assemblies )

Page 5 / 11

https://stuga.dokit.app/images/thumb/6/6a/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074831.png/ia-b2b412d50c9ad99dc74ea630bef4c57c-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074831.png.png
https://stuga.dokit.app/images/thumb/3/3b/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121935.png/ia-5f3b2cf8e9694fd2bbf795059bba0290-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_121935.png.png
https://stuga.dokit.app/images/thumb/1/18/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122015.png/ia-4eacb3f2c6232aa4a72bee81bddc4ddb-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122015.png.png
https://stuga.dokit.app/images/thumb/6/6b/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_075155.png/ia-15e994f98d0d86d1de8a63efaec76299-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_075155.png.png
https://stuga.dokit.app/images/thumb/7/76/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074836.png/ia-c7a5573e6e9caa3acda8deaaebb99de0-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_074836.png.png


Step 4 - Fix frames together with M10 set bolts and washers
1 Fix frames together with M10 x 100 set bolts, 3 off Large M10 washers stacked on each bolt and a M10 nut on each bolt. Use copper slip as

shown

2 Connect 8mm Blue airpipe from saw module F to valve bank on outfeed (photo required)

Page 6 / 11

https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122141.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122150.png


Step 5 - Quality check
Vital check required on !xing points for saw conveyor mounting

2 off M8 rivnuts must be installed correctly

1 Face of frame must be countersunk to allow <ush !tment and full contact of rivnut shoulder.

2 Rivnuts must be tensioned correctly when installed. If in doubt, please request information from supervisor for the correct !tting of

rivnuts.

3 Rivnuts should have a solid !xed into frame and not be able to rotate . To check this, bolt a component to the rivnut and tighten. Then undo

fastener and remove component. Rivnut should not move during this process and remain solid

Step 6 - Fit Swarf conveyor
Fit waste conveyor to out feed frame using 2 off M8 socket caps

Adjust waste conveyor feet to minimise gap shown between saw module rear panel and waste guide on conveyor

Page 7 / 11

https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_quality.png
https://stuga.dokit.app/images/thumb/2/2f/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-10_084541.png/ia-4b6b7268da1ec05a64224e1ddb47f98c-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-10_084541.png.png


Page 8 / 11

https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_075455.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_075502.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122256.png


Step 7 - Swarf conveyor blower
connection
Connect swarf conveyor blower feed to saw module bulk head

Page 9 / 11

https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122326.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122316.png
https://stuga.dokit.app/images/thumb/4/4b/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122447.png/ia-f7099d35b516b3c43fc57f0d9a8db3dc-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2024-01-05_122447.png.png


Step 8 - Prepare front tray
Use red pump trolley to lift tray into position

Set end indicated <ush

Ensure tray is pushed up against both saw and outfeed frame

Step 9 - Mark Tray and drill
1 Pencil mark around 7 off arms

2 Remove tray and mark hole position as shown on each mark point on tray

3 Pilot and open to 7.5mm at each marked position

Step 10 - Attach tray
1 Reposition tray with red trolley

2 Fit tray with 7 off M6 socket caps and heavy M6 washers

Page 10 / 11

https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080035.png
https://stuga.dokit.app/images/thumb/b/b2/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080042.png/ia-302f697087f92b790df96e6816f452f5-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080042.png.png
https://stuga.dokit.app/images/thumb/b/b2/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080042.png/ia-622df889978febe6afcb839f4686dfd5-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080042.png.png
https://stuga.dokit.app/images/thumb/3/35/ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080646.png/ia-2ff0f60b07e8a89c1ec88f76141f53f6-1000px-ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080646.png.png
https://stuga.dokit.app/wiki/Fichier:ZX5_Production_R0000548E_Module_G_to_R0015040_Module_F_alignment_Screenshot_2023-12-21_080035.png


Page 11 / 11


	ZX5 Production R0000548E Module G to R0015040 Module F alignment
	Contents
	Introduction
	Step 1 - Position saw outfeed table
	Step 2 - Saw Outfeed table levelling
	Step 3 - Saw outfeed height adjustment and Y axis position
	Step 4 - Fix frames together with M10 set bolts and washers
	Step 5 - Quality check
	Step 6 - Fit Swarf conveyor
	Step 7 - Swarf conveyor blower connection
	Step 8 - Prepare front tray
	Step 9 - Mark Tray and drill
	Step 10 - Attach tray


